=471 HAH, BA, O 5 A7 v, e, fRIAL W, vi2e—f

of e T

@ 30 @40 ® 50 @ 60 ® 70

B ‘

v=2n, 2X6=12
e=13n, 3X6 =18
f=n+26+2=8
v+2e—-f
=12+2%x18-8 =40




fol

23

3} o] PotAl A 9-0] F47e] 2]

A
=

CREE

180 °

ul




thS 2P0 BAE AOB 9 Wol7l 32cm?
BHE COD ¢ Hol7b 12em? & o, 2COD 9
A71E Fstei=t

[ 2
> ™. 30°

B ~

32:12 =80°: 2zCOD

C D

12
D =80°x — = 30°
£LCO 80° x 3 30




@ 16mxcm? @ 257cm? 3)36rcm?

@ 37rcm? ® 397cm?

4
37X 33 = 36m(cm?®)




® 72rcm? @) 1087mcm? @ 1207mcm?

@ 2007wcm? ® 3007cm?

S = (B9 Wol) + (72 ZHol) x 5
:3671—|—47r><62><%

= 36m + 721
= 1087(cm?)




